

(15) H-3051, Dr. Satish Kumar
 (07) Find The Fourier series for $f(x) = x + x^2$ in

$[-\pi, \pi]$. Also show that Fourier series which
 converge to $f(x)$ in $[-\pi, \pi]$, $f(x) = \pi^2$ when $x = \pm \pi$,

Solu. Given $f(x) = x + x^2$

We have $f(x) = \frac{a_0}{2} + \sum a_n \cos nx + \sum b_n \sin nx$

$$a_0 = \frac{1}{\pi} \int_{-\pi}^{\pi} (x + x^2) dx = \frac{1}{\pi} \int_{-\pi}^{\pi} x dx + \frac{1}{\pi} \int_{-\pi}^{\pi} x^2 dx$$

$$= \frac{1}{2\pi} [x^2]_{-\pi}^{\pi} + \frac{1}{3\pi} [x^3]_{-\pi}^{\pi} = 0 + \frac{1}{3\pi} [\pi^3 + \pi^3]$$

$$= \frac{2}{3} \pi^2$$

$$a_n = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \cos nx dx$$

$$= \frac{1}{\pi} \int_{-\pi}^{\pi} (x + x^2) \cos nx dx$$

$$= \frac{1}{\pi} \int_{-\pi}^{\pi} x \cos nx dx + \frac{1}{\pi} \int_{-\pi}^{\pi} x^2 \cos nx dx$$

$$= 0 + \frac{2}{\pi} \int_0^{\pi} x^2 \cos nx dx$$

$$= \frac{2}{\pi} \left[-x^2 \cdot \frac{\sin nx}{n} \Big|_0^{\pi} - \int_0^{\pi} 2x \frac{\sin nx}{n} dx \right] = -g(x)$$

$$g(x) = x \cos nx$$

$$g(-x) = -x \cos nx$$

$$= -g(x)$$

$$= \frac{2}{\pi} \left[0 - \frac{2}{n} \int_0^{\pi} x \sin nx dx \right]$$

$$= -\frac{4}{\pi n} \left[-\frac{x \cos nx}{n} \Big|_0^{\pi} - \int_0^{\pi} \frac{\cos nx}{n} dx \right]$$

$$= +\frac{4}{\pi n^2} [x \cos nx]_0^{\pi} + \frac{4}{\pi n^2} \times 0$$

$$= \frac{4}{\pi n^2} [\pi (-1)^n] = \frac{4}{n^2} (-1)^n$$

(16) H-3051, Dr. Satish Kumar

$$b_n = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \sin nx \, dx$$

$$= \frac{1}{\pi} \int_{-\pi}^{\pi} (x+x^2) \sin nx \, dx$$

$$= \frac{1}{\pi} \left[\int_{-\pi}^{\pi} x \sin nx \, dx + \int_{-\pi}^{\pi} x^2 \sin nx \, dx \right]$$

$$= \frac{1}{\pi} \left[2 \int_0^{\pi} x \sin nx \, dx + \int_{-\pi}^{\pi} x^2 \sin nx \, dx \right]$$

$$= \frac{1}{\pi} \left[2 \left\{ x(-) \frac{\cos nx}{n} \right\}_0^{\pi} - \int_0^{\pi} 1(-) \frac{\cos nx}{n} \, dx \right]$$

$$+ \frac{1}{\pi} \left[x^2(-) \frac{\cos nx}{n} \right]_{-\pi}^{\pi} - \int_{-\pi}^{\pi} 2x(-) \frac{\cos nx}{n} \, dx$$

$$= \frac{1}{\pi} \left[-\frac{2\pi \cos n\pi}{n} + \frac{1}{n} \int_0^{\pi} \cos nx \, dx \right]$$

$$+ \frac{1}{\pi} \left[-\frac{\pi^2}{n} \cos n\pi + \frac{\pi^2}{n} \cos(n\pi) + \frac{2}{n} \int_{-\pi}^{\pi} x \cos nx \, dx \right]$$

$$= -\frac{2}{n} (-1)^n + 0 - \frac{2}{\pi n} \left[x \frac{\sin nx}{n} \right]_{-\pi}^{\pi} - \int_{-\pi}^{\pi} \frac{\sin nx}{n} \, dx$$

$$b_n = \frac{(-2)(-1)^n}{n} - \frac{2}{\pi n} [0 - 0]$$

$$\therefore f(x) = \left(\frac{1}{2} a_0 + \sum_{n=1}^{\infty} a_n \cos nx + \sum_{n=1}^{\infty} b_n \sin nx \right) \text{ implies}$$

$$(x+x^2) = \frac{\pi^2}{3} + \sum_{n=1}^{\infty} \frac{4}{n^2} (-1)^n \cos nx + \sum_{n=1}^{\infty} \frac{(-2)(-1)^n}{n} \sin nx$$

$$(x+x^2) = \frac{\pi^2}{3} + 4 \sum_{n=1}^{\infty} (-1)^n \left[\frac{\cos nx}{n^2} - \frac{\sin nx}{2n} \right]$$

(17) H-3051, Dr Satish Kumar

To show convergence of $f(x) = x + x^2$
at $x = \pm \pi$

We know

$$\begin{aligned} S(x) &= \frac{1}{2} [f(\pi-0) + f(-\pi+0)] \\ &= \frac{1}{2} [\pi + \pi^2 + (-\pi) + (-\pi)^2] \\ &= \pi^2 \end{aligned}$$

i.e. $f(x) \rightarrow \pi^2$

$$\therefore f(x) = \left(\frac{a_0}{2} + \sum_{n=1}^{\infty} a_n \cos nx + \sum_{n=1}^{\infty} b_n \sin nx \right) \Rightarrow$$

$$\pi^2 = \frac{\pi^2}{3} + 4 \sum_{n=1}^{\infty} (-1)^n \left[\frac{\cos n\pi}{n^2} - \frac{\sin n\pi}{2n} \right]$$

$$\Rightarrow \pi^2 = \frac{\pi^2}{3} + 4 \sum_{n=1}^{\infty} (-1)^n \cdot \frac{(-1)^n}{n^2} - 0$$

$$\Rightarrow \pi^2 - \frac{\pi^2}{3} = 4 \sum_{n=1}^{\infty} \frac{1}{n^2} \quad [(-1)^{2n} = 1]$$

$$\Rightarrow \frac{2\pi^2}{3} = 4 \left[\frac{1}{1^2} + \frac{1}{2^2} + \frac{1}{3^2} + \frac{1}{4^2} + \dots \right]$$

$$\Rightarrow \frac{\pi^2}{6} = \frac{1}{1^2} + \frac{1}{2^2} + \frac{1}{3^2} + \frac{1}{4^2} + \dots$$

Note; some authors write $f(x)$ as on $[-\pi, \pi]$ or $[0, 2\pi]$

$$f(x) = a_0 + \sum_{n=1}^{\infty} a_n \cos nx + \sum_{n=1}^{\infty} b_n \sin nx$$

$$a_0 = \frac{1}{2\pi} \int_{-\pi}^{\pi} f(x) dx$$

$$a_n = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \cos nx dx$$

$$b_n = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \sin nx dx$$

$$a_0 = \frac{1}{2\pi} \int_0^{2\pi} f(x) dx$$

$$a_n = \frac{1}{\pi} \int_0^{2\pi} f(x) \cos nx dx$$

$$b_n = \frac{1}{\pi} \int_0^{2\pi} f(x) \sin nx dx$$

Q.8. Expand $f(x)$ by Fourier series where
 $f(x) = e^x$ on $[-\pi, \pi]$

Solution. Given $f(x) = e^x$, $x \in [-\pi, \pi]$

We know Fourier series is given by

$$f(x) = \frac{1}{2}a_0 + \sum_{n=1}^{\infty} a_n \cos nx + \sum_{n=1}^{\infty} b_n \sin nx \quad \text{--- (1)}$$

Where,

$$a_0 = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) dx, \quad a_n = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \cos nx dx$$

$$b_n = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \sin nx dx$$

Now, $a_0 = \frac{1}{\pi} \int_{-\pi}^{\pi} e^x dx = \frac{1}{\pi} [e^{\pi} - e^{-\pi}] = \frac{2}{\pi} \sinh \pi$

$$[! \sinh \pi = \left(\frac{e^{\pi} - e^{-\pi}}{2} \right)]$$

$$a_n = \frac{1}{\pi} \int_{-\pi}^{\pi} e^x \cos nx dx$$

Formula
 $\int e^{ax} \cos bx dx = \frac{e^{ax}}{a^2 + b^2} [a \cos bx + b \sin bx]$

$$= \frac{1}{\pi} \left[\frac{e^x}{1+n^2} [1 \cdot \cos nx + n \sin nx] \right]_{-\pi}^{\pi}$$

$$= \frac{1}{\pi(1+n^2)} \left\{ e^{\pi} (\cos n\pi + n \sin n\pi) - e^{-\pi} (\cos n\pi - n \sin n\pi) \right\}$$

$$= \frac{1}{\pi(1+n^2)} \left\{ e^{\pi} ((-1)^n + 0) - e^{-\pi} ((-1)^n - 0) \right\}$$

$$a_n = \frac{(-1)^n}{\pi(1+n^2)} \cdot 2 \sinh \pi$$

$$[! \sinh \pi = \frac{e^{\pi} - e^{-\pi}}{2}]$$

Now,

$$b_n = \frac{1}{\pi} \int_{-\pi}^{\pi} e^x \sin nx dx$$

$$b_n = \frac{1}{\pi} \cdot \frac{1}{1+n^2} \left\{ e^x [1 \cdot \sin nx - n \cos nx] \right\}_{-\pi}^{\pi}$$

Formula
 $\int e^{ax} \sin bx dx = \frac{e^{ax}}{a^2 + b^2} [a \sin bx - b \cos bx]$

$$b_n = \frac{1}{\pi(1+n^2)} \left[e^{\pi} (-\sin n\pi - n \cos n\pi) - e^{-\pi} (-\sin n\pi - n \cos n\pi) \right]$$

(19) H-3051, Dr Satish Kumar

$$b_n = \frac{1}{\pi(1+n^2)} \left[e^{\pi} (0 - n \cos n\pi) - e^{-\pi} (0 - n \cos n\pi) \right]$$

$$= \frac{n}{\pi(1+n^2)} \left[-e^{\pi} + e^{-\pi} \right] \cos n\pi$$

$$= - \frac{n}{\pi(1+n^2)} \left[e^{\pi} - e^{-\pi} \right] \cos n\pi$$

$$b_n = - \frac{n(-1)^n}{\pi(1+n^2)} (2 \sinh \pi) \quad \left[\begin{array}{l} \because \frac{e^{\pi} - e^{-\pi}}{2} = \sinh \pi \\ \cos n\pi = (-1)^n \end{array} \right]$$

$$f(x) = \left(\frac{1}{2} a_0 + \sum_{n=1}^{\infty} a_n \cos nx + \sum_{n=1}^{\infty} b_n \sin nx \right) \Rightarrow$$

$$e^x = \frac{1}{2} \cdot \left(\frac{2}{\pi} \sinh \pi \right) + \sum_{n=1}^{\infty} \frac{(-1)^n \cdot 2 \sinh \pi}{\pi(1+n^2)} \cos nx$$

$$+ \sum_{n=1}^{\infty} \frac{n(-1)^n (-)}{\pi(1+n^2)} (2 \sinh \pi) \sin nx$$

$$\Rightarrow e^x = \frac{1}{\pi} \sinh \pi + \sum_{n=1}^{\infty} \frac{2(-1)^n \sinh \pi}{\pi(1+n^2)} [\cos nx - n \sin nx]$$

Required expansion.

(20) H-3051 Dr. Satish Kumar

Expand $f(x) = \sin x$, $0 < x < \pi$ in a Fourier series.

Also deduce that $\frac{1}{2} = \frac{1}{1 \cdot 3} + \frac{1}{3 \cdot 5} + \frac{1}{5 \cdot 7} + \dots$

Solution. Given $f(x) = \sin x$, $x \in]0, \pi[$

We know by Fourier series

$$f(x) = \frac{1}{2}a_0 + \sum_{n=1}^{\infty} a_n \cos nx + \sum_{n=1}^{\infty} b_n \sin nx$$

where, $a_0 = \frac{1}{\pi} \int_0^{\pi} f(x) dx$, $a_n = \frac{1}{\pi} \int_0^{\pi} f(x) \cos nx dx$

$$b_n = \frac{1}{\pi} \int_0^{\pi} f(x) \sin nx dx$$

Now, $a_0 = \frac{1}{\pi} \int_0^{\pi} \sin x dx = \frac{1}{\pi} \left[-\cos x \right]_0^{\pi}$

$$a_0 = -\frac{1}{\pi} [\cos \pi - 1] = -\frac{1}{\pi} [-1 - 1] = \frac{2}{\pi}$$

$$\Rightarrow \boxed{\frac{a_0}{2} = \frac{1}{\pi}}$$

$$a_n = \frac{1}{\pi} \int_0^{\pi} f(x) \cos nx dx = \frac{1}{\pi} \int_0^{\pi} \sin x \cos nx dx$$

$$= \frac{1}{2\pi} \int_0^{\pi} 2 \cos nx \sin x dx = \frac{1}{2\pi} \int_0^{\pi} [\sin(n+1)x - \sin(n-1)x] dx$$

$$\because 2 \cos A \sin B = \sin(A+B) - \sin(A-B)$$

$$\therefore a_n = \frac{1}{2\pi} \left[\frac{-\cos(n+1)x}{(n+1)} + \frac{\cos(n-1)x}{(n-1)} \right]_0^{\pi}$$

$$a_n = \frac{1}{2\pi} \left[\left\{ \frac{-\cos(n+1)\pi}{n+1} + \frac{\cos(n-1)\pi}{(n-1)} \right\} - \left\{ \frac{-1}{n+1} + \frac{1}{n-1} \right\} \right]$$

(21) H-3051, Dr Satish Kumar

$$a_n = \frac{1}{2\pi} \left[\left(\frac{(-1)^{n+1}}{n+1} + \frac{(-1)^{n-1}}{n-1} \right) - \left(\frac{-n+1+n+1}{n^2-1} \right) \right]$$

$$= \frac{1}{2\pi} \left[\left(\frac{(-1)^n}{n+1} + \frac{(-1)^n(-1)^{-1}}{n-1} \right) - \frac{2}{n^2-1} \right]$$

$$= \frac{1}{2\pi} \left[(-1)^n \left(\frac{1}{n+1} - \frac{1}{n-1} \right) - \frac{2}{n^2-1} \right]$$

$$= \frac{1}{2\pi} \left[(-1)^n \left(\frac{n-1-n-1}{n^2-1} \right) - \frac{2}{n^2-1} \right]$$

$$a_n = \frac{1}{2\pi} \left[\frac{(-1)^n (-2)}{n^2-1} - \frac{2}{n^2-1} \right] \quad n \geq 2$$

$$a_n = \frac{-2}{2\pi} \left[\frac{(-1)^n + 1}{(n^2-1)} \right], \quad n \geq 2$$

$$a_n = -\frac{1}{\pi} \left[\frac{(-1)^n + 1}{n^2-1} \right], \quad n \geq 2$$

For $n=1$

$$a_1 = \frac{1}{\pi} \int_0^\pi \sin x \cos x \, dx = 0$$

$$b_n = \frac{1}{\pi} \int_0^\pi \sin x \sin nx \, dx = 0 \quad \text{clearly}$$

$$\text{ii } f(x) = \frac{a_0}{2} + \sum a_n \cos nx + \sum b_n \sin nx \Rightarrow$$

$$\sin x = \frac{a_0}{2} + a_1 \cos x + \sum_{n=2}^{\infty} a_n \cos nx$$

$$= \frac{1}{\pi} + 0 + a_2 \cos 2x + a_3 \cos 3x + a_4 \cos 4x + \dots$$

$$= \frac{1}{\pi} + \left[\left(-\frac{1}{\pi} \right) \frac{2}{3} \cos 2x + \left(-\frac{1}{\pi} \right) 0 + \left(-\frac{1}{\pi} \right) \frac{2}{15} \cos 4x + \dots \right]$$

$$\sin x = \frac{1}{\pi} - \frac{2}{\pi} \left[\frac{\cos 2x}{1 \cdot 3} + \frac{\cos 4x}{3 \cdot 5} + \dots \right]$$

Put $x=0$, we get

$$\frac{1}{2} = \frac{1}{1 \cdot 3} + \frac{1}{3 \cdot 5} + \frac{1}{5 \cdot 7} + \dots \quad \text{Proved.}$$

Problems for Practice

- ① Expand $f(x) = x$, $x \in]0, 2\pi[$ by Fourier series
 Ans: $x = \pi - 2 \left[\sin x + \frac{1}{2} \sin 2x + \frac{1}{3} \sin 3x + \dots \right]$
- ② Expand $f(x)$ by Fourier series where

(i) $f(x) = \pi - x$, $0 < x < 2\pi$

Ans. $\pi - x = 2 \left[\sin x + \frac{1}{2} \sin 2x + \frac{1}{3} \sin 3x + \dots \right]$

(ii) $f(x) = x \sin x$, $x \in]0, 2\pi[$

Ans: $x \sin x = -1 + \pi \sin x - \frac{1}{2} \cos x + 2 \left[\frac{\cos 2x}{2^2-1} + \frac{\cos 3x}{3^2-1} + \dots \right]$

- ③ Find Fourier series for

$$f(x) = \begin{cases} 0, & -\pi < x < 0 \\ x, & 0 < x < \pi \end{cases}$$

Ans. $f(x) = \frac{\pi}{4} - \frac{2}{\pi} \left[\frac{\cos x}{1^2} + \frac{\cos 3x}{3^2} + \frac{\cos 5x}{5^2} + \dots \right]$
 $+ \left[\frac{\sin x}{1} - \frac{\sin 2x}{2} + \frac{\sin 3x}{3} + \dots \right]$

For discontinuous function, Fourier series gives the value of $f(x)$ as the arithmetic mean of left hand limit and right hand limit

i.e. At the point of discontinuity at $x = c$

$$f(x) = \frac{1}{2} \left[\text{LHL of } f(x) \text{ at } x=c + \text{RHL of } f(x) \text{ at } x=c \right]$$

$$f(x) = \frac{1}{2} \left[f(c-0) + f(c+0) \right]$$

Example. Find Fourier series for $f(x)$ where

$$f(x) = \begin{cases} -\pi, & -\pi < x < 0 \\ x, & 0 < x < \pi \end{cases}$$

Hint.

Here $f(x)$ is discontinuous at $x=0$

So $f(x) = \frac{1}{2} \left[\text{LHL of } f(x) \text{ at } x=0 + \text{RHL of } f(x) \text{ at } x=0 \right]$

$$f(x) = \frac{1}{2} \left[f(0-0) + f(0+0) \right] \quad [\text{Here } c=0]$$

Ans: $\frac{\pi^2}{8} = \frac{1}{2} + \frac{1}{3^2} + \frac{1}{5^2} + \dots$

Any way let us solve.....

We know Fourier series is

$$f(x) = \frac{1}{2}a_0 + \sum_{n=1}^{\infty} a_n \cos nx + \sum_{n=1}^{\infty} b_n \sin nx$$

$$f(x) = \begin{cases} -\pi & , -\pi < x < 0 \\ x & , 0 < x < \pi \end{cases}$$

$$a_0 = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) dx = \frac{1}{\pi} \int_{-\pi}^0 f(x) dx + \frac{1}{\pi} \int_0^{\pi} f(x) dx$$

$$a_0 = \frac{1}{\pi} \int_{-\pi}^0 (-\pi) dx + \frac{1}{\pi} \int_0^{\pi} x dx$$

$$= -\left[x\right]_{-\pi}^0 + \frac{1}{\pi} \left[\frac{x^2}{2}\right]_0^{\pi}$$

$$= -[0 - (-\pi)] + \frac{1}{2\pi} [\pi^2 - 0^2]$$

$$a_0 = -\pi + \frac{\pi}{2} \Rightarrow \boxed{a_0 = -\frac{\pi}{2}}$$

$$a_n = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \cos nx dx = \frac{1}{\pi} \int_{-\pi}^0 f(x) \cos nx dx + \frac{1}{\pi} \int_0^{\pi} f(x) \cos nx dx$$

$$a_n = \frac{1}{\pi} \int_{-\pi}^0 (-\pi) \cos nx dx + \frac{1}{\pi} \int_0^{\pi} x \cos nx dx$$

$$a_n = \frac{1}{\pi} (-) \left[\frac{\sin nx}{n} \right]_{-\pi}^0 + \frac{1}{\pi} \left[x \cdot \frac{\sin nx}{n} - \int_0^{\pi} 1 \cdot \frac{\sin nx}{n} dx \right]$$

$$= 0 + \frac{1}{\pi} [0] + \frac{1}{\pi n} \left[\frac{\cos nx}{n} \right]_0^{\pi}$$

$$a_n = + \frac{1}{\pi n^2} [\cos n\pi - 1]$$

$$b_n = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \sin nx dx = \frac{1}{\pi} \left[\int_{-\pi}^0 f(x) \sin nx dx + \int_0^{\pi} f(x) \sin nx dx \right]$$

$$= \frac{1}{\pi} \int_{-\pi}^0 (-\pi) \sin nx dx + \frac{1}{\pi} \int_0^{\pi} x \sin nx dx$$

$$b_n = \left[\frac{\cos nx}{n} \right]_{-\pi}^0 + \frac{1}{\pi} \left[-x \frac{\cos nx}{n} + \int_0^{\pi} 1 \cdot \frac{\cos nx}{n} dx \right]$$

(24) H-305, Dr Satish Kumar

$$b_n = \frac{1}{n} [1 - \cos n\pi] - \frac{1}{\pi n} [\pi \cos n\pi] + \frac{1}{\pi n} \left(\frac{\sin nx}{n} \right)_0^\pi$$

$$= \frac{1}{n} - \frac{\cos n\pi}{n} - \frac{\cos n\pi}{n} + 0$$

$$b_n = \frac{1 - 2\cos n\pi}{n}$$

$$\therefore f(x) = -\frac{\pi}{4} + \sum \frac{1}{\pi n^2} (\cos n\pi - 1) \cos nx \\ + \sum \left(\frac{1 - 2\cos 2n\pi}{n} \right) \sin nx$$

but $x=0$

$$f(0) = -\frac{\pi}{4} + \sum_{n=1}^{\infty} \frac{1}{\pi n^2} (\cos n\pi - 1) + 0$$

$$= -\frac{\pi}{4} + \sum_{n=1}^{\infty} \frac{1}{\pi n^2} [(-1)^n - 1]$$

$$f(0) = -\frac{\pi}{4} + \left(\frac{-2}{\pi} \right) \left[\frac{1}{1^2} + \frac{1}{3^2} + \frac{1}{5^2} + \dots \right] \quad \left[\because \frac{(-1)^n - 1}{2} = 0, \text{ if } n \text{ is even} \right]$$

Now, $f(x)$ is discontinuous at $x=0$

$$\text{and } f(0-0) = -\pi \quad \left[\because \lim_{h \rightarrow 0} f(0-h) = -\pi \right]$$

$$f(0+h) = \lim_{h \rightarrow 0} f(h) = \lim_{h \rightarrow 0} h = 0$$

$$\therefore f(0) = \frac{1}{2} [f(0-0) + f(0+0)] \\ = \frac{1}{2} \left[\lim_{h \rightarrow 0} f(0-h) + \lim_{h \rightarrow 0} f(0+h) \right]$$

$$f(0) = \frac{1}{2} [-\pi + 0] = -\frac{\pi}{2} \quad \text{--- (2)}$$

$\therefore$ Eqn (1) and (2) $\Rightarrow$

$$-\frac{\pi}{2} = -\frac{\pi}{4} - \frac{2}{\pi} \left[1 + \frac{1}{3^2} + \frac{1}{5^2} + \dots \right]$$

$$\text{or, } \frac{\pi^2}{8} = 1 + \frac{1}{3^2} + \frac{1}{5^2} + \dots$$

(4) Find the Fourier series expansion of the periodic function of period 2π defined as

$$f(x) = \begin{cases} x & , \text{ if } -\frac{\pi}{2} < x < \frac{\pi}{2} \\ \pi - x & , \text{ if } \frac{\pi}{2} < x < \frac{3\pi}{2} \end{cases}$$

$$\text{Ans. } f(x) = \frac{4}{\pi} \left[\frac{\sin x}{1^2} - \frac{\sin 3x}{3^2} + \frac{\sin 5x}{5^2} - \dots \right]$$

(5) Find the Fourier series of the function

$$f(x) = \begin{cases} x + \pi & , \text{ for } 0 \leq x \leq \pi \\ -x - \pi & , \text{ for } -\pi \leq x < 0 \end{cases}$$

$$\text{Ans. } f(x) = \frac{\pi}{2} - \frac{4}{\pi} \left[\frac{\cos x}{1^2} + \frac{\cos 3x}{3^2} + \dots \right] + 4 \left[\frac{\sin x}{1} + \frac{\sin 3x}{3} + \dots \right]$$

(6) Find the Fourier series of the function

$$f(x) = \begin{cases} -1 & , -\pi < x < 0 \\ 1 & , 0 < x < \pi \end{cases}$$

$$\text{Ans. } f(x) = \frac{4}{\pi} \left[\frac{1}{1} \sin x + \frac{1}{3} \sin 3x + \frac{1}{5} \sin 5x + \dots \right]$$

(7) Find the Fourier series of the function

$$f(x) = \begin{cases} -\frac{\pi}{4} & , -\pi < x < 0 \\ \frac{\pi}{4} & , 0 < x < \pi \end{cases}$$

$$\text{and } f(-\pi) = f(0) = f(\pi) = 0$$

$$\text{Ans. } f(x) = \frac{\sin x}{1} + \frac{\sin 3x}{3} + \frac{\sin 5x}{5} + \dots$$

(8) Find the Fourier series of the function

$$f(x) = \begin{cases} 0 & , -\pi \leq x \leq 0 \\ 1 & , 0 < x < \frac{\pi}{2} \\ 0 & , \frac{\pi}{2} \leq x \leq \pi \end{cases}$$

(26) H-3051, D2 Satish Kumar

(9) Find Fourier of the following functions:

$$(i) f(x) = \begin{cases} 0 & , 0 < x < \pi \\ 1 & , \pi < x < 2\pi \end{cases}$$

$$\text{Ans: } f(x) = \frac{1}{2} - \frac{2}{\pi} \left[\sin x + \frac{1}{3} \sin 3x + \frac{1}{5} \sin 5x + \dots \right]$$

$$(ii) f(x) = \begin{cases} 1 & , 0 < x < \pi \\ 2 & , \pi < x < 2\pi \end{cases}$$

$$\text{Ans. } f(x) = \frac{3}{2} - \frac{2}{\pi} \left[\sin x + \frac{1}{3} \sin 3x + \frac{1}{5} \sin 5x + \dots \right]$$

$$(iii) f(x) = \begin{cases} 0 & , -\pi < x \leq 0 \\ \frac{\pi x}{4} & , 0 < x < \pi \end{cases}$$

$$\text{Ans. } f(x) = \frac{\pi^2}{16} + \sum_{n=1}^{\infty} \left[\frac{(-1)^n - 1}{4n^2} \cos nx - \frac{(-1)^n \pi}{4n} \sin nx \right]$$

$$(iv) f(x) = \begin{cases} -\pi & , -\pi < x < 0 \\ x & , 0 < x < \pi \\ -\frac{\pi}{2} & \text{for } x = 0 \end{cases}$$

$$\text{Ans } f(x) = -\frac{\pi}{4} - \frac{2}{\pi} \left[\cos x + \frac{\cos 3x}{3^2} + \frac{\cos 5x}{5^2} + \dots \right] + 3 \sin x - \frac{1}{2} \sin 2x + \dots$$

$$(v) f(x) = \begin{cases} \pi + x & , -\pi < x < -\frac{\pi}{2} \\ \frac{\pi}{2} & , -\frac{\pi}{2} < x < \frac{\pi}{2} \\ \pi - x & , \frac{\pi}{2} < x < \pi \end{cases}$$

$$\text{Ans: } f(x) = \frac{3\pi}{8} + \frac{2}{\pi} \left[\frac{1}{1^2} \cos x - \frac{2}{2^2} \cos 2x + \frac{1}{3^2} \cos 3x + \dots \right]$$

(27) H-3051, Dr. Satish Kumar

Fourier expansion of an even function.

Let $f(x)$ be an even function on $[-\pi, \pi]$,

then

$$f(x) = \frac{a_0}{2} + \sum_{n=1}^{\infty} a_n \cos nx \quad \text{where}$$

$$a_0 = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) dx = \frac{2}{\pi} \int_0^{\pi} f(x) dx$$

$$\text{and } a_n = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \cos nx dx$$

Note. Here $b_n = 0$.

Example. Find the Fourier series expansion of $f(x)$ where

$$f(x) = x^2, \quad -\pi \leq x \leq \pi$$

$$\text{Hence prove that } \frac{\pi^2}{12} = \frac{1}{1^2} - \frac{1}{2^2} + \frac{1}{3^2} - \frac{1}{4^2} + \dots$$

Ans. See Q. 5. (ii) part.

Fourier expansion of an odd function

Let $f(x)$ be an odd function on $[-\pi, \pi]$ then

$$f(x) = \frac{a_0}{2} + \sum_{n=1}^{\infty} a_n \cos nx + \sum_{n=1}^{\infty} b_n \sin nx$$

$$\Rightarrow f(x) = \sum_{n=1}^{\infty} b_n \sin nx$$

$$\text{as } a_0 = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) dx = 0, \quad a_n = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \cos nx dx = 0$$

$$b_n = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \sin nx dx,$$

Example. Find Fourier series expansion of $f(x) = x^3$ on $]-\pi, \pi[$.

Solu. clearly $f(x) = x^3$ is an odd function as $f(-x) = -f(x)$.

$$\therefore a_0 = 0 \text{ and } a_n = 0$$

$$\therefore f(x) = \sum_{n=1}^{\infty} b_n \sin nx, \quad b_n = \frac{1}{\pi} \int_{-\pi}^{\pi} x^3 \sin nx dx$$

We know $\int u v dx = u v_1 - u' v_2 + u'' v_3 - u''' v_4 + \dots$

$$u' = \frac{du}{dx}, \quad u'' = \frac{d^2 u}{dx^2} \text{ etc, } v_1 = \int v dx, \quad v_2 = \int v_1 dx \text{ etc}$$

(28) H-3051, Dr. Sahish Kumar

So, $b_n = \frac{1}{\pi} \int_{-\pi}^{\pi} x^3 \sin nx \, dx$

$$b_n = \frac{2}{\pi} \int_0^{\pi} x^3 \sin nx \, dx$$

$$\left[\because \int_{-a}^a f(x) \, dx = 2 \int_0^a f(x) \, dx \right. \\ \left. , \text{ if } f(-x) = -f(x) \right]$$

$$b_n = \frac{2}{\pi} \left[x^3 \left(-\frac{\cos nx}{n} \right) - 3x^2 \left(-\frac{\sin nx}{n^2} \right) \right. \\ \left. + 6x \left(\frac{\cos nx}{n^3} \right) - 6 \left(\frac{\sin nx}{n^4} \right) \right]_0^{\pi}$$

$$b_n = \frac{2}{\pi} \left[-\frac{\pi^3 \cos n\pi}{n} + \frac{3\pi^2}{n^2} \sin n\pi + \frac{6\pi}{n^3} \cos n\pi - \frac{6}{n^4} \sin n\pi \right. \\ \left. + 0 - 0 - 0 + 0 \right]$$

$$b_n = \frac{-2\pi^2 \cos n\pi}{n} + 0 + \frac{2}{\pi} \left(\frac{6\pi}{n^3} \right) \cos n\pi$$

$$= \frac{-2\pi^2 (-1)^n}{n} + \frac{12}{n^3} (-1)^n$$

$$b_n = 2(-1)^n \left[-\frac{\pi^2}{n} + \frac{6}{n^3} \right]$$

ii $f(x) = \sum_{n=1}^{\infty} b_n \sin nx \Rightarrow$

$$x^3 = \sum_{n=1}^{\infty} 2(-1)^n \left[-\frac{\pi^2}{n} + \frac{6}{n^3} \right] \sin nx$$